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Change Analysis Steps

Answer the following:
What?
When?
Where? o
How? o
Who? e
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What happened
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PENALTY

CHARGE
NOTICE
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I have just been given a

Why ? parking ticket
Parked in a 10 minute max
"'l‘,l
parking zone and time i Why 5 :
expired Held up in a queue at the
local bakery

The till was inoperative

Till had not been serviced

by manufacturers

Bakery had forgotten to
extend maintenance

contract




Fishbone diagram

Strategic and
organizational
factors

Task or
activity
factors

Equipment
and
resources
factors

Working
condition
factors

Individual
factors

<

Communication
factors

Education
and training

factors

Team and
social
factors

Patient
factors

Area or
process

under study




(5Why’s ) 1z )5 '
(RCA) () aduyy Jlo Jaladi ol& Jig




Slawy Je

L b Gl (gl Aoy (Sde a0l i (Gl Jlgw ©
é‘é‘s.ot)é\.l.ﬁ.wwég.é;| >

A8 (o0 Ty axbly o)ligs el B yb ST




(1) @Bg ! 4y Jls Jubxs 2190

o oD O =
0

Jow yy p Ol gy (owlis! ol m

'5‘4-19) 9)9.0 3o 6515 U ol =

RCA wiolyd o eyl gl Jwyy o5 lo) *




(V) @83 sl 4y o Juxi &ilgo

olme, B,k il culos puc

Olylow CcotS 9 (Sl dgio b abluly yo cwbow colos puc ™

)95 "




)m O 490 QY‘Q:N

flawl ool Glail gl awlgs b Aol ax b0
Clawl vl dwlgs U asols 4 oo WL 51 gl 6 juni y 4

0093 (& iciiny JoB8 astwlgs G aSol> LT

] ouls diwlgs b aiols 4 oo wlalocdl j1 plusous U

00gs 4 Uas pa b dilwlgs b diol> W i ol alo ;) He




Dont ony , everything is great , the Turkey in the
microwave , and i am feeding the baby ,,,







